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3. 13/1449 MAIEE +~= HS(USDA 4E€ 92 &

H)

(T4 WE, %)
2 = Al AF 2 sablg | SHE M S
- -=° L] = & SaH
13/14 4(A) 126404 1236,59 151,77 192,18 13.8
M A 13/14.3(B) 1260.77 1233.75 146,71 191.46 13.9
12/18(C) 1136.25 1138.06 122,59 164.73 13.1
AR = ZLEAB) 0.3 0.2 3.4 0.4
SUEAC) 11.2 8.7 23.8 16.7
13/14 4(A) 369.43 310,12 49.32 36.43 10.1
o = 13/14 3(B) 369.43 310,48 45,59 39.91 11.2
12/13(C) 286,01 276.27 20.73 23,53 7.9
A== Z22(A/B) 0.0 0.1 8.2 87
ZUEACQ) 29.2 123 137.9 54.8
13/14 4(A) 973.90 950.30 119.43 158,00 14.8
M A 13/14.3(B) 967.52 943.72 114.53 158.47 15.0
12/13(C) 866,94 865.37 94,79 134.40 14,0
2 5+ F SUEAB) 0.7 0.7 43 0.3
ZLUSAQ) 12.3 9.8 26.0 17.6
13/14.4(A) 353.72 297.19 44,45 33.82 9.9
o| = 13/14 3(B) 353.72 297.19 41.28 36.99 10,9
12/13(0) 273.83 263,64 18,58 20.86 7.4
g F F SUSAB) 0.0 0.0 7.7 8.6
ZLE(A/Q) 29.2 12,7 139.2 62.1
13/14 4(A) 712.52 702.44 160.89 186.68 21.6
M A 13/14 3(B) 712.72 704,82 162.05 183.81 212
12/13(C) 656.50 678.79 137.40 176,60 21.6
2 oy Z2t2(A/B) 0.0 03 0.7 1.6
SUEAQ) 8.5 3.5 17.1 57
13/14 4(A) 284.05 269.00 109.43 69.42 18.3
M A 13/14 3(B) 285.43 269.70 108.22 70.64 18.7
12/13(C) 268,10 258,74 100,65 57.87 16.1
CH = SUEAB) 0.5 0.3 1.1 -1.7
ZUEAC) 5.9 4.0 8.7 20,0
13/14 4(A) 89,51 48.43 43,00 3.67 4.0
o = 13/14.3(B) 89.51 48.69 41,64 3.95 4.4
12/13(C) 82.56 48.42 35.91 3.83 4.5
CH = SUEAB) 0.0 0.5 3.3 7.1
Z=Z2+2(A/C) 8.4 0.0 19.7 42
13/14.4(A) 188,39 184,12 61,27 10.80 4.4
M A 13/14 3(B) 188.66 184,49 61.43 10.92 44
12/13(0) 180.51 176.96 57.77 9.78 42
o = ut =212(A/B) 0.1 0.2 0.3 1.1
ZLEA0) 4.4 4.0 6.1 10,4
13/14 4(A) 36.30 26,49 9.98 0.27 0.7
o = 13/14 3(B) 36.39 26.67 9.89 0.27 0.7
12/13(C) 36.17 26,34 10,08 0.25 0.7
oy = gt ZLEAB) 0.2 0.7 0.9 0.0
ZZ2+2(A/C) 0.4 0.6 -1.0 8.0
100 ERERE



MA A=

a1
|

_=

13/14.4(A) 12/13B) 11/12(C) e =l
7 inl 164.73 166,54 166,62 98.91
A & 1,264.04 1,136.25 1,154,95 111.25
T 2 144,37 128.28 128,14 112.54
E = 1,573.14 1431.07 1,449.71 109.93
= H] 1,236.59 1,138,06 1,155.04 108.66
Al =2 739.25 668,99 657.90 110,50
7| E} 497 34 469,07 497.14 106.03
= & 151.77 122.59 146.69 123.80
= e 1,388.36 1,260.65 1301.73 110.13
7| il 192.18 164.73 166,54 116.66
Al = 13.84% 13.07% 12.79%

012 AIRZE 234

13/14 4(A) 12/13(B) (©) AB
7| il 23,53 27.82 32,29 84,58
A4 2 369.43 286,01 323.73 129.17
& 2 2,91 6.70 2.88 43,43
= = 395.87 380.86 398.14 103.94
=2 H 310,12 276.27 290.05 112,25
Al =3 140,43 115,55 119.88 121,53
7| E} 169.69 160,72 170.17 105.58
T & 49.32 20,73 41,03 237.92
ES 2 359,44 348.56 350.00 103.12
7| ! 36,43 23,53 27.82 154,82
X = 10.14% 9.27% 13.75%

EU AIEZ2E 5415
(G4
&=

13/14.4(A) 12/13(B) 11/12(C) AB
7 in 12,14 15.58 16,73 77.92
M o 158.77 145.88 149.88 108.84
- 2l 12.38 11.84 0.95 104.56
B = 183.29 173.30 177.76 105.76
= H] 161,97 153.80 151,46 105.31
Al =2 120,85 114,48 113.24 105.56
7| E} 41,12 39.32 38.20 104.58
& & 8.06 7.36 6.53 109.51
= =] 170,03 161,16 157.65 105.50
7| inl 13,26 12,14 15.58 109.23
al = 7.80% 7.53% 12.75%




N
MA S a2
(] : wighe=
SUE
13/14.4(A) 12/13(B) 11/12(C) AB AGC
Jl =2 N 1 134.40 132.82 129.35 101.19 103.90
A 2 973.90 866,94 886,64 112,34 109.84
T 2 113.41 98.91 99.92 114.66 113.50
£z 2 2 1221.71 1098,67 1006.95 111,20 121.33
= L 2 | 950.30 865.37 883.16 109.81 107.60
AFBRE 576.15 517.30 507.10 111.38 113.62
2l E} 374.15 348.07 297.47 107.49 125,78
& = 119,43 94,79 116,98 125,99 102.09
E ) 1069.73 960,16 861.57 111.41 124.16
=R ! 158.00 134,40 132.82 117.56 118,96
N 8 14.77% 14.00% 17.12%
nj2 244 A
(F9] © WQEE
SL=E
13/14 4(A) 12/13(B) 11/12(C) AB AC
Jl = ® 1 20.86 25.12 28,64 83.04 72,84
A4 2 353,72 273.83 313.95 129.18 112.67
& 2 0.89 4,13 0.75 21.55 118.67
s 3 = 375.47 303.08 348,74 123.88 107.66
= W & | 297.19 263,64 279.03 112.73 106.51
A B2 2 134.63 110,06 115,74 122,32 116.32
7| E} 162.56 153.58 125.80 105.85 129.22
T & 44,45 18.58 39.18 239.24 113.45
zE £ 2 341,64 282.22 306.23 121.05 111,56
=T ! 33.82 20.86 25.12 162.13 134.63
2 I 9.90% 7.39% 13.88%
EU 244 $T43
(] © k=
&=
13/14.4(A) 12/13(B) 11/12(C) AB AG
VAN i 5.08 6.67 5,22 76.16 97.32
M o 64.89 58.86 68.12 110,24 95.26
= 2 12.00 11.35 6.11 105.73 196.40
E 3 = 81.97 76.88 79.45 106.62 103.17
= W 2o | 74.50 69.60 69.50 107.04 107.19
AF B2 56.00 53.00 54.00 105.66 103,70
7| E} 18.50 16,60 15.50 111.45 119.35
& & 2,00 2.19 3.29 91.32 60.79
s F 2 76.50 71.79 72.79 106.36 105.10
=R ! 5.46 5.08 6.67 107.48 81.86
N o8 7.14% 7.08% 9.16%
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HAZE T12/ oA

57 244 434

HoEE
13/14.4(A) 12/13(B) 11/12(C) AB
7 il 65.57 59.34 49.42 110,50 132,68
A & 217.00 205.61 192.78 105.54 112,56
T 2 5.00 2.70 523 185.19 95.60
E = 287.57 267.65 247 .43 107.44 116.22
=2 H 216,00 202.00 188,00 106,93 114,89
Al =2 156.00 144,00 131,00 108.33 119.08
7| E} 60.00 58.00 57.00 103.45 105.26
& = 0.10 0.08 0.09 125.00 111,11
= ko) 216,10 202,08 188,09 106,94 114,89
7| i 71.47 05.57 59.34 109.00 120,44
Al = 33.07% 32.45% 31.55%
M| Aoy 3k
LN 2
13/14 4(A) 12/13(B) 11/12(C) AB
7| inl 176.60 198.89 198.93 88.79 88.77
A oy 712,52 656.50 697.04 108.53 102,22
& 2 153.31 144,04 149.32 106,44 102.67
= = 1042.43 999.43 1045.29 104,30 99.73
= H] 702,44 678.79 697.08 103.48 100.77
At =2 132.88 136,59 146,87 97.28 90.47
7| E} 569.56 542,20 550,21 105.05 103.52
== & 160.89 137.40 157.78 117.10 101,97
= =] 863.33 816,19 854,86 105.78 100,99
7| i 186,68 176,60 198.89 105.71 93.86
Xy = 21.62% 21.64% 23.27%
MA chset ~aalket
(] © k=
&=
13/14.4(A) 12/13(B) 11/12(C) AB
7| i 9.78 10,18 8.65 96.07 113.06
M o 188.39 180.51 180,47 104,37 104,39
= 2 58.03 53.82 57.09 107.82 101.65
= = 256.20 244,51 209.40 104,78 122.35
= H] 184,12 176,96 177.77 104.05 103.57
At 2 184.12 176.96 177.77 104.05 103.57
7| E} - - - - -
& & 61.27 57.77 58.27 106,06 105.15
= 2 245,39 234,73 204,45 104,54 120,02
7| inl 10.80 9.78 10.18 110,43 106,09
xH = 4.40% 4.17% 4.98% -




N
0|2 chFY 348
(] : wighe=
SUE
13/14.4(A) 12/13(B) 11/12(C) AB AGC
J = x 1 0.25 0.27 0.32 92,59 78.13
A 2 36.30 36,17 37.22 100.36 97.53
T 2 0.20 0.22 0.20 90.91 100,00
2 3 = 36.75 36,66 35.83 100.25 102.57
2oy & 26,49 26.34 28.62 100,57 92,56
AP BB 26,49 26,34 28.62 100,57 92.56
7] E} - - . B B
= & 9.98 10,08 8.84 99.01 112.90
E ) 36,47 36.42 35.61 100,14 102,42
=R ! 0.27 0.25 0.27 108.00 100.00
A 0.74% 0.69% 0.76% -
Hald oise g4
(F9] © WQEE
SL=E
13/14 4(A) 12/13(B) 11/12(C) AB AC
J = X 1 251 3.20 2.44 78,44 102.87
A4 2 28.67 26,72 29,51 107.30 97.15
& 2 0.03 0.03 0.03 100.00 100.00
s 3 = 31.21 29.95 27.90 104,21 111.86
2 L} & | 14.50 14.20 14,10 102,11 102,84
At = 2 14,50 14,20 14,10 102,11 102,84
7| E} - B} ) B .
& & 13.78 13.24 14.68 104,08 93.87
zE £ 2 28.28 27 44 25.44 103.06 111.16
20 2 X 1 2.93 2,51 3.20 116,73 91.56
N 2 8 10.36% 9.15% 12,58% -
OIZHIE|L} ChEY} +TAE
(] © k=
&=
13/14.4(A) 12/13(B) 11/12(C) AB G
Jl = X 2 4,73 3.38 2.43 139.94 194,65
M o 28.53 26,09 27.95 109.35 102,08
= 2 - - - - -
E 3 = 33,26 29.47 30.38 112.86 109.48
= W 2 v 1.19 1.07 0.96 111.21 123,96
AP ROB 1.19 1.07 0.96 111,21 123,96
7| E} B B } B .
& & 27.33 23.67 26.04 115.46 104.95
s F 2 28,52 24,74 24.63 115.28 115,79
=R ! 4,74 4,73 3.38 100,21 140,24
oz 8 16.62% 19.12% 13.72% -
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